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This guestion carvies 13 per cont of the mavks o this assignment. and fests Learning Chatcome 2
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{a) (% prarks) Predict the magor product formed on addition of HCL o cach of the alkenes 1-3,
Bricfly explain your answer in cach case.
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(B (6 marks) What will be the product{s) of the following addiion resctions? Give your reasons,
Include the sterepchemistey of the prodect(z] in esch case,
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Thiz guestion carries 15 per cent of the warks for thiz aesfgnorend, and tesis Learning Cwlcome 3
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The above reaction corresponds 1o a step in the synthesis of a tranguilizer. ?.r"f .
(a) {2 wrards) Whal are the reagents A and B used in ihe fransfonmationT l.-fJ } }'. J{" ' :.LI I
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(b} (6 merks) Using curly arows, draw oul a mechanism for the reaction.

(e} {7 marks) 1s Compound 7 the only product formed? Comment on the distribution of products,
What potential problems might be encountered in the 5_1,-‘1|[h|.,$|5 and how mp,ht these be mn-
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This question carries 15 per cent rJ,.u" I-i'r miarks' for this assignmer, and tests Learning COutcomes 4
B and 7 of Book 7 Par 2

The Friedel Crafls acylation of benzene with ‘BuCOC] gives the expected ketone (8) a5 a minor
product, as well as feri-butyibenzene (9, However, the major product iz the disubstituted aromatic
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Using curly arows o draw out mechanisms. explain how each of these three compounds is
formed. In the formation of Compound 10 what is the order in which the two substiluents are

sdded 10 the benrene ring? “‘-‘.Hq_‘__ﬂd_,
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